SEVENTH FRAMEWORK
PROGRAMME

D4.3: Release of the second
version of the RUBICON SOFNN
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Network with 19 inputs

Phone ringing confirm | 777" 18 inputs after 900 samples
T T T T

0 I L I L L L L I
650 700 750 800 850 900 950 1000 1050 1100 1150 1200
Visitor at door
1 T T T T T T
0.5

I I L I L L I
650 700 750 800 850 900 950 1000 1050 1100 1150 1200
Fire alert situation

3 1 T T T
c
[}
2 05F ' ‘ ' .
c PN
o s
O 0 I L I L L I L I I L I
650 700 750 800 850 900 950 1000 1050 1100 1150 1200
Dripping alert situation
1 T T s T
0.5
0 [ [ [ [ I [ [ I
650 700 750 800 850 900 950 1000 1050 1100 1150 1200
Cleaning situation
650 700 750 800 850 900 950 1000 1050 1100 1150 1200
Number of samples
5 # ) # )y #' D) *
n 1 1
) #- 77 #$
Network with 19 inputs
User exercising L~ 18 inputs after 900 samples
1 T T T y e T T
0.5[ .
0 I ! I I I kil (LS
650 700 750 800 850 900 950 1000 1050 1100 1150 1200
User relaxing
1
0.5

>

650 700 750 800 850 900 950 1000 1050 1100 1150 1200

User in kitchen
1 T T T T T T T T T T T

I I I I I I I
650 700 750 800 850 900 950 1000 1050 1100 1150 1200

Confidence
o
[$)]
T
1

Cooking activity

l T T T T T T
0.5 A
0 [ [ [ [ [ [ [ [ [ [
650 700 750 800 850 900 950 1000 1050 1100 1150 1200
Burglary alert situation
1 T T T
0.5~ A
0 I L [ [ =
650 700 750 800 850 900 950 1000 1050 1100 1150 1200
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Network with 19 inputs
User exercising | ===~ 20 inputs after 900 samples
1 T T T 7 T T T
0.5[" !
0 [ [ ! ! ! [ [
650 700 750 800 850 900 950 1000 1050 1100 1150 1200
User relaxing
1 T T T T
0.5 . o » a
0 I T i 1 1 1 I I
650 700 750 800 850 900 950 1000 1050 1100 1150 1200
@ User in kitchen
c 1 T T T T T T T T T T T
3 050 _
g 0 [ [ [ [ | [ [
© 650 700 750 800 850 900 950 1000 1050 1100 1150 1200
Cooking activity
1 T T T T T L— o~
0.5 bl
0 L L I I I L L L I I
650 700 750 800 850 900 950 1000 1050 1100 1150 1200
Burglary alert situation
1 T T T T T T T T
0.51 !
0 [ [ [ [
650 700 750 800 850 900 950 1000 1050 1100 1150 1200
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Network with 19 inputs
Phone ringing confirm | === 20 inputs after 900 samples
1 T T
0.5
0 ! ! [ [ [ [ ! [ [ [ !
650 700 750 800 850 900 950 1000 1050 1100 1150 1200
Visitor at door
1 T T 7 T T T T T T T T
2"
0.5 A
0 L L I I I L L I I I L i
650 700 750 800 850 900 950 1000 1050 1100 1150 1200
Fire alert situation
3 1 T T T T T T
c
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2 05 l . l b
c P g
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650 700 750 800 850 900 950 1000 1050 1100 1150 1200
Dripping alert situation
1 T T e
0.5
0 I L L T L
650 700 750 800 850 900, 95 1000 1050 1100 1150 1200
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Testing with 18 inputs

User exercising | ===== Testing with 19 inputs
1 T T T T T T T
0.5 |
I i i [ i [ i i
3950 4000 4050 4100 4150 4200 4250 4300 4350 4400 4450 4500
User relaxing
1 T T T T T T T
0.5 ]
0 i [ I i i i i i I i i
3950 4000 4050 4100 4150 4200 4250 4300 4350 4400 4450 4500
User in kitchen
o 1
o
5
T 05
€
o
© o
3950 4000 4050 4100 4150 4200 4250 4300 4350 4400 4450 4500
Cooking activity
1 ! ! WW ! ! !
0.5 ]
0 i [ i i I i [ i i

L
3950 4000 4050 4100 4150 4200 4250 4300 4350 4400 4450 4500

Burglary alert situation
1 T T T T T T T T T

1 I 1
3950 4000 4050 4100 4150 4200 4250 4300 4350 4400 4450 4500
Number of samples
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Testing with 18 inputs
Testing with 19 inputs
T T

Phone ringing confirm

I
4300

I
4350

3950 4000 4050 4100 4150 4200 4250 4500

Visitor at door
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$# - (""" ? #o# #-$%

% Database Name
dbName = ‘rubicon_db’ :
% JDBC Parameters

jdbcString = sprintf( 'jdbc:mysql: //%s/%s , host, dbName);

jdbcDriver = ‘com.mysql.jdbc.Driver’

% Set this to the path for MySQL Connector/J JAR

javaaddpath(  ‘'mysqgl-connector-java-5.1.22-bin.jar' )

% Create the database connection object

dbConn = database(dbName, user , password, jdbcDriv er, jdbcString);

"L HS R # (((1% 8T ) - 0% ( (¢«

#$/ # # #S #H' #S #S$ (H D #S$< "H#HS #FS o
$#. (""" . $" H#H#O- O < ( - - ‘HH# (#

( $#. -t ($H sm (-3 ( ()# |

Hi< ( (H < - ( 8 # (" @# ) - evalue

"$)$ . TT# ( " # $ "# $. ' #

% Event related information

event_colnames={ 'TIME'" , 'E1" , 'E2" , 'E3" , 'E4" , 'E5 , 'E6' , 'ET'
‘E8" , 'E9" , 'E10' , 'E11' , 'E12' , 'E13" , 'E14' , 'E15' , 'El6' , 'E17

'E18' ,'E19" };
event_tablename={ 'DATA FOR_EVENTY,
evalue=str2num(sprintf( '%s' ,eget.data));

evaluel=numz2str(evalue(1,1));
event_exdata{l}=evaluel;
for no_event=1:no_of_inputs

event_exdata{no_event+1} =round(100*evalue(1 ,no_event+1));
end
fastinsert(dbConn, event_tablename{1}, event_colnam es,
event_exdata);

(H#  # #$<  #$$ ( # ) # (# "$ )
(""", $" HHH#O-O# 0O )< I T (
#0"$ 2 - () ) "#-%% ( H< ( (HT7<
- (# )

% Reasoning module output related information

reasoning_colnames={ TIME' , 'R1', 'R2", 'R3" , 'R4" , 'R , 'R6" ,
'‘R7 , 'R8 , 'R9 , 'R10" }

reasoning_tablename={ 'DATA_FOR_REASONING_OUTPUY;
reasoning_exdata{1}=time_info;

for i=1:no_of_reasoning_output

3673673
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% Get reasoning output yy(i,observation_input_index)

reasoning_exdata{i+1}=round(100*yy(i,observation_in put_index));
end
fastinsert(dbConn, reasoning_tablename{1}, reasonin g_colnames,

reasoning_exdata);

() s # e (( # - (LS
# ) s# - () ( $ ( H#0= < - (
# ) -(( #$ ‘###'H O= < - (" -###%

% Prediction model inputs

for i=1:no_input

% setting the appropriate object argument to retrie ve data
sx=sprintf( 'select %s from %s limit %d,%d' ,
event_colnames{i+1},
event_tablename{1}, start_xrow, no_xrow);
curx=exec(dbConn,sx);
curx=fetch(curx);
dx=curx.Data;

% arrange the 2 sets of data for prediction model a S per event
inputs

for j=1:x_pred

aaf{i}(j,1)=dx{j,1};

end

clear dx curx ;
end
% rearrange the data to be used in the prediction m odel inputs. The
2-digit data format is also converted back into 2 d ecimal point data
format
ct=0;

for j=x_pred:-1:1
for i=1:no_input

ct=ct+1,

p_pm(ct,1)=aa{i}(j,1)/100;

end

end

) -0 se ( H##0- 0)' O ) <# -$$

% Prediction model outputs

prediction_colnames={ TIME' , 'P1'" , 'P2" , 'P3" , 'P4" , 'P5 , 'P6' ,
‘P7, 'P8 , 'P9" , 'P10' }
prediction_tablename={ 'DATA_FOR_PREDICTION_OUTPUT};

prediction_exdata{1}=time_info;
for i=1:no_of_reasoning_output
% Get prediction output tt(i,observation_input_index)

3673673 #



prediction_exdata{i+1}=round(100*tt(i,observation_i
end

fastinsert(dbConn, prediction_tablename{1}, predict
prediction_exdata);

nput_index));

ion_colnames,

2 (# "$ - "# - (SHE O SH 1 O#S

# # ) - (' "' 2.# )-"' L #

o 1% 2 s/ (! ') # H#S- #' H#

#'-# -") (# # #) =) -t #8( $ $#.
# ' (# #$) ') ( “HH# - $-'#
? 1"$)$ #$ "H ' ) Ho(# O"#) ( " #H$

# ] (- )$ (C #S - ( $$# - (
e HS-H#H - ( $ $#. ( HA#$S #$< ) -#H3S #3
# (' "'$ - ( . ) #HS - ( $ % #

"' H $$0 #30 < 2 - ( ) ( ( ((-9%% '
% Posting of control goals
decision_colnames = { ‘TIME_OF_ISSUE' , 'GOAL_ID' , 'PARAMETER_VECTOR'

'PRIORITY" , 'END_TIME' , 'START_TIME' };
decision_tablename={ '‘COGL2CL_GOAL_ISSUE'},

for i=1:final_goal(1,1)
last_post(1,final_goal(1,i+1))=time_info;
time2start=time_update(time_info,
start_delay_4 goal(1,final_goal(1,i+1)));
time2finish=time_update(time_info,
duration_4_goal(1,final_goal(1,i+1)));
decision_exdata ={time_info, final_goal(1,i+1) , O,
goal_priority, time2finish, time2start};fastinsert(
decision_tablename{1}, decision_colnames, decision_
end

%Number of publishable control goals

dbConn,
exdata);
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